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U.G. 4th Semester Examinations 2022

GEOGRAPHY (General)
Paper Code : SEC-2
(Remote Sensing and Geographical Information System)
[CBCS]
Full Marks : 40 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group - A
Answer any fwo questions of the following : 10x2=20

1. Define Remote Sensing. What are the stages of remote sensing data ? In Remote sensing what
is the primary source of energy ? What are the differences between longwave and shortwave
electro magnetic radiation ? 2+5+1+2=10

2. What are the different types of remote sensing platforms ? What are the characteristics of
geosynchronous satellites ? Give an example of geostationary satellite. 4+4+2=10

3. What are the advantages and limitations of satellite imageries over traditional mapping ? What
is visible wavelength ? 8+2=10

4. Define Geographical information system (GIS). What are the different components of GIS ?

What are the limitations of GIS technology ? 4+6=10
Group - B

Answer any four questions of the following : 5x4=20

5. What are the areas of applications of Remote Sensing data ? 5

6. Differentiate between functional characteristics of sunsynchronous and geosynchronous satellites.
5

7. What is visual image interpretation ? Write down some characteristics of visual image
interpretation. 5

8. What is vector data ? What are the basic components of a vector dataset ? 5
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9. Differentiate between spectral and spatial resolution. 5
10. Classify remote sensing based on source of energy. 5

11. What is an areal photograph ? What are the basic differences between areal photographs and

satellite imageries ? 5

12. Write down the ideal conditions for collecting remote sensing data. 5
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